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1. (d)Heart is studied in cardiology
Similarly,
Earthquakes are studied in
seismology.

2. (d)9 × 182 + 14 ÷ 67 – 33 = 151
Option 'd' used

 9 × 182 ÷ 14 + 67 – 33 = 151
 9 × 13 + 67 – 33 = 151
 117 + 67 – 33 = 151
 151 = 151 (L.H.S = R.H.S)

3. (c) 28 students
(9 +1)
Students

(15+2) 
Students

11
th

(Boy’s rank)

The new rank of the boy from
last = The boy + number of
students after the boy

 1 + (15 + 2)
 1 + 17 = 18

4. (b)

Painters

Skilled

Caretakers Lawyers

5. (a) R

Q

P

U

S

T

6. (d) W  E    T      2  7  6   N 9

C  O          8     1R  4N 9

T   I     E        6  5  2R 4

O  A  T  S       2  3  8  0

7. (a) P
Brother 

Q
Mother S Son T

+ – – 
R

+ 

Son’s wife

8. (d)
7, 22, 52, 112, 232, 472

+15 +30 +60 +120 +240

×2 ×2 ×2 ×2
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9. (c) The angled formula =

11
Min u tes  + 30Hou rs

2

= 
11

× 4 3  – 30  × 6
2

= 236.5  – 180

= 56.5o

10. (b) S EL RWO

S MF TPX
+1 +1 +1 +1 +1 +1

Similarly,

M RE EGA

F FS NBH
+1 +1 +1 +1 +1 +1

11. (c) B
Father 

K
Brother Daughter P

+ + – 
R

A–
Father 

S
+Brother 

in low

Grand 
Daughter

12. (b)
7

47
th

34
th88Right 
side

Left 
side

1

K M

13. (a) C, E, G, I, K, M, O, Q

+2 +2 +2 +2+2 +2 +2

14. (a) 45 99 62 112 81  102127

+17 +19 +21

+13 +15

15. (a)

50m

20m

70m

30m

30m

16. (a)
M UE D I

L SD C G

–1

M

K

–1 –1 –2 –2 –2

Similarly,

P ER E F

O CQ D D

–1

R

P

–1 –1 –2 –2 –2

17. (a) P EL TNA

R JC NYL

–2

Similarly,

M LO SED

Q MJ KBC

–2

18. (c)

L M S

L S T

K O P

+1

+1

–2

–2

+3

+3

M Q W

Similarly,

H N T

G P Q
+1 –2 +3

19. (c)
20. (c) #  ×

@  –
 5 # 3 @ 3 = 12
 5 × 3 – 3 = 12

 12 = 12 (L.H.S = R.H.S)

 7 # 2 @ 4 = 10
 7 × 2 – 4 = 10
 10 = 10 (L.H.S = R.H.S)

Similarly,
 2 # 9 @ 5
 2 × 9 – 5
 13

21. (c) P V F

22. (c) H R B
–1 +1 –2 

G S Z
–1 +1 –2 

F T X
–1 +1 –2 

E U V
–1 +1 –2 

D V T

23. (c)

24. (a)

25. (a)
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B-GENERAL AWARENESS

26. (a) Oligopoly is a market

structure in which there are

a few sellers (more than two),

who supply the same or

differentiated products. In this

structure, each seller has

some control over the market,

and they compete with each

other. The tobacco and

cigarette industries are

examples of imperfect or

differentiated oligopolies, as

the products produced by

different firms have their

unique features but are still

close substitutes. In such a

market, companies differe-

ntiate their products, but

competition still exists./

vYikf/dkj (vksfyxksikWyh) ,d cktkj
lajpuk gS ftlesa dqN foØsrk gksrs gSa
(ysfdu nks ls vf/d)] tks ,d lkeku
;k foHksfnr mRiknksa dh vkiwfrZ djrs
gSaA bl lajpuk esa] çR;sd foØsrk dk
cktkj ij dqN gn rd fu;a=k.k gksrk
gS] vkSj os ,d&nwljs ds lkFk çfrLièkkZ
djrs gSaA rackdw vkSj flxjsV m|ksx
viw.kZ ;k foHksfnr vksfyxksikWyh ds
mnkgj.k gSa] D;ksafd fofHkUu iQeks± }kjk
mRikfnr eky dh viuh fof'k"V
fo'ks"krk,¡ gksrh gSa] ysfdu ;s lHkh
mRikn ,d&nwljs ds djhch fodYi
gksrs gSaA bl çdkj ds cktkj esa daifu;k¡
vius mRiknksa esa HksnHkko djrh gSa]
ysfdu fiQj Hkh çfrLi/kZ cuh jgrh
gSA

27. (d) Perfect Competition It is a

market condition where there

are a large number of

independent sellers, and all

sellers offer the same type of

goods at the same price.

Under pure competition,

companies have very little

control over prices or

distribution because all sellers

offer the same product at the

same price. In this market

structure, no company has

the power to set prices, and

consumers get the best

products because all sellers

provide similar quality

products./ iw.k Z çfr;k s fxrk
(Perfect Competition) ,d
cktkj dh fLFkfr gS ftlesa cM+h
la[;k esa Lora=k foØsrk gksrs gSa] vkSj
lHkh foØsrk ,d gh çdkj ds lkekuksa
dks ,d leku ewY; ij is'k djrs
gSaA 'kq¼ çfrLi/kZ ds rgr daifu;k¡
mRiknksa dh dher ;k forj.k ij
cgqr de fu;a=k.k j•rh gSa] D;ksafd
lHkh foØsrk leku ewY; ij vkSj
,d gh mRikn csprs gSaA bl cktkj
lajpuk esa fdlh Hkh daiuh dks dher
r; djus dh 'kfDr ugha gksrh] vkSj
miHkksDrk dks lcls vPNs mRikn
feyrs gSa] D;ksafd lHkh foØsrk leku
xq.koÙkkiw.kZ mRikn çnku djrs gSaA

28. (b) Securities and Exchange

Board of India (SEBI) SEBI

formulates policies to protect

investors’ interests and

regulate mutual funds in

India. SEBI regulates

mutual funds under the

*SEBI (Mutual Funds)

Regulations, 1996. SEBI is

the highest regulatory

authority of the capital

market, and its role is to

ensure investor protection,

market transparency, and

proper functioning of the

market. Additionally, SEBI

acts as an intermediary to

control any malpractices in

the capital market./Hkkjrh;
çfrHkwfr ,oa fofue; cksMZ (SEBI) us
fuos'kdksa ds fgrksa dh j{kk djus vkSj
Hkkjr esa E;wpqvy iQaM~l dk fofu;eu
djus ds fy, uhfr;k¡ rS;kj dh gSaA lsch
E;wpqvy iQaM~l dk fofu;eu *lsch
(E;wpqvy iQaM~l) fofu;e] 1996* ds
rgr djrk gSA lsch] iwath cktkj dk

lokZsPp fu;ked gS vkSj bldk dk;Z
fuos'kdksa dh lqj{kk] cktkj dh ikjnf'kZrk
cuk, j•uk vkSj cktkj dh mfpr
dk;Zç.kkyh lqfuf'pr djuk gSA blds
vykok] lsch iwath cktkj esa fdlh Hkh
vuq'kklughurk dks fu;af=kr djus ds fy,
eè;LFk ds :i esa Hkh dk;Z djrk gSA

29. (a) Imperial Bank of India. It

was established on January

27, 1921, it was established

during British rule to reform

the Indian financial sector.

It existed as a joint-stock

company with no

government participation.

Later, in 1955, it was

transformed into the State

Bank of India (SBI). Imperial

Bank of India was a

significant and important

commercial bank in the

Indian subcontinent and

played an essential role in

the Indian banking system./

baihfj;y cSad vkWiQ bafM;k 27 tuojh
1921 dks vfLrRo esa vk;k Fkk] bls
fczfV'k dky esa Hkkjrh; foÙkh; {ks=k esa
lq/kj ds fy, LFkkfir fd;k x;k FkkA
;g ,d la;qDr LVkWd daiuh ds :i esa
vfLrRo esa Fkk] ftlesa ljdkj dh dksbZ
Hkkxhnkjh ugha FkhA ckn esa] 1955 esa bls
LVsV cSad vkWiQ bafM;k (SBI) esa cny
fn;k x;k FkkA baihfj;y cSad vkWiQ bafM;k
Hkkjrh; miegk}hi dk ,d çeq• vkSj
egRoiw.kZ okf.kfT;d cSad Fkk] tks Hkkjrh;
cSafdax ç.kkyh esa egRoiw.kZ Hkwfedk fuHkkrk
FkkA

30. (b) Lawmaking is the primary

and most important

function of the

Legislature** - The laws

made by the legislature

determine the policies of

the government and the

executive, helping to

control the executive.

Through the budget passed

by the legislature, the
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executive’s expenses and

resources are arranged.

While making the budget

and the budget process is

the responsibility of the

executive, it is presented to

the legislature, which

approves it. Thus, both roles

complement each other, with

the legislature determining

policies and the executive

implementing them./dkuwu
cukuk fo/kf;dk dk çkFkfed vkSj
lcls egÙoiw.kZ dk;Z gSA fo/kf;dk
}kjk cuk, x, dkuwuksa ds ekè;e ls
ljdkj vkSj dk;Zdkjh dh uhfr;ksa dks
dk;kZUo;u ds fy, fu/kZfjr fd;k
tkrk gS] ftlls ;g dk;Zdkjh dks
fu;af=kr djus esa enn djrk gSA fo/
kf;dk }kjk ikfjr fd, x, ctV ds
ekè;e ls dk;Zdkjh ds •pZ vkSj
lalk/uksa dh O;oLFkk dh tkrh gSA
gkykafd] ctV cukuk vkSj ctV dh
çfØ;k dk;Zdkjh dk dke gS] ysfdu
bls fo/kf;dk ds lkeus çLrqr fd;k
tkrk gS] vkSj fo/kf;dk bls eatwjh
nsrh gSA bl çdkj] nksuksa dh Hkwfedk
,d nwljs ds iwjd gksrh gS] ftlesa
fo/kf;dk uhfr;ksa dks fu/kZfjr djrh
gS vkSj dk;Zdkjh mUgsa ykxw djrk gSA

31. (d) Social Contract Theory -

According to this theory,

members of society make an

agreement upon which the

government and society’s

rules are formed. Thomas

Hobbes, John Locke, and

Jean-Jacques Rousseau are

considered the three main

founders of the social

contract theory. Thomas

Hobbes in Leviathan argued

that without government,

there would be chaos and

violence in human society,

and hence, a strong

centralized government is

needed.John Locke

emphasized individual

freedom and the protection of

property in the social

contract, and he believed the

government’s main purpose is

to protect the rights of its

ci t izens.Jean-Jacques

Rousseau in The Social

Contractargued that the right

government is based on the

general will of the citizens,

respecting individual

freedom./lkekftd vuqca/ fl¼kar
bl fl¼kar ds vuqlkj] lekt ds
lnL; vkil esa ,d le>kSrk djrs
gSa] ftlds vk/kj ij ljdkj vkSj
lekt ds fu;eksa dk xBu gksrk gSA
Fkk Wel gk W Cl] tkWu yk Wd vk Sj
thu&tSDl #lks dks lkekftd vuqca/
fl¼kar ds rhu eq[; laLFkkidksa ds
:i esa ekuk tkrk gSA
FkkWel gkWCl us ̂ ^fyfofFk;u** esa ;g
rdZ çLrqr fd;k fd fcuk ljdkj
ds] ekuo lekt esa vjktdrk vkSj
fg alk gk sxh] vkSj blfy, ,d
'kfDr'kkyh dsaæhÑr ljdkj dh
vko';drk gSA
tkWu ykWd us lkekftd vuqca/ esa
O;fDrxr Lora=krk vkSj laifÙk dh
lqj{kk ij tksj fn;k] vkSj muds vuqlkj
ljdkj dk eq[; mís'; ukxfjdksa ds
vf/dkjksa dh j{kk djuk gSA
thu&tSDl #lks us ̂ ^n lks'ky dkaVªSDV**
esa ;g crk;k fd lgh ljdkj ukxfjdksa
dh lkekU; bPNk ds vk/kj ij LFkkfir
dh tkrh gS vkSj blesa O;fDrxr
Lora=krk dk lEeku fd;k tkrk gSA

32. (b) The 69th Constitutional

Amendment Act, 1991 -

Under this amendment,

Delhi was designated as the

National Capital Territory

(NCT) of Delhi, and a

legislative assembly was

provided for it. This

amendment was made by

incorporating Article

239AA into the Indian

Constitution. After this

amendment, Delhi formed

a government and a

legislative assembly that

could make decisions on

local matters. However,

this amendment did not

grant Delhi full state

status, and three

significant subjects—

police, public order, and

land—remained under the

central government’s

control. This amendment

gave Delhi a unique

administrative status, with

a distribution of powers

between the central and

state governments./69oh a
laoS/kfud la'kks/u vf/fu;e] 1991
ds rgr fnYyh dks jk"Vªh; jkt/kuh
{ks=k (NCT) fnYyh ds :i esa ukfer
fd;k x;k vkSj blds fy, fo/ku
lHkk dk çko/ku fd;k x;kA ;g
l a ' k k s /u H k k jr h;
lafo/ku esa vuqPNsn 239AA dks
'kkfey djds fd;k x;k FkkA bl
la'kks/u ds ckn fnYyh esa ,d ljdkj
vkSj fo/ku lHkk dk xBu gqvk] tks
LFkkuh; ekeyksa esa fu.kZ; ys ldrh
FkhA
gkykafd] bl la'kks/u us fnYyh dks
iw.kZ jkT; dk ntkZ ugha fn;kA fnYyh
ds rhu egRoiw.kZ fo"k;ksa iqfyl]
lkoZtfud O;oLFkk vkSj Hkwfe dks dsUæ
ljdkj ds ikl j•k x;kA bldk
eryc Fkk fd bu {ks=kksa esa fnYyh
ljdkj dks lhfer vf/dkj çkIr Fks
vkSj bu ij dsUæ dk fu;a=k.k cuk
jgkA bl la'kks/u us fnYyh dks ,d
fo'ks"k ç'kklfud fLFkfr nh] ftlesa
dsUæ vkSj jkT; ljdkj ds chp 'kfDr
dk forj.k gksrk gSA

33. (d) Article 368 of the Indian

Constitution - It provides

Parliament with the power

to amend the Constitution.

Under this, Parliament has

the authority to add,

change, or repeal any

provision. The amendment

process begins with a

proposal in both houses of

Parliament and requires

the President’s assent./
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Hkkjrh; lafo/ku dk vuqPNsn 368
laln dks lafo/ku esa la'kks/u djus
dh 'kfDr çnku djrk gSA blds rgr
laln fdlh Hkh çko/ku dks tksM+us]
cnyus ;k fujLr djus dk vf/dkj
j•rh gSA la'kks/u çfØ;k laln ds
nksuksa lnuksa esa çLrko ds ekè;e ls
'kq: gksrh gS vkSj jk"Vªifr dh LohÑfr
vko';d gksrh gSA

34. (b) Rakhigarhi - It is a

significant archaeological

site located in the Hisar

district of Haryana, dating

back to around 6500 BCE.

This site later became a

part of the mature

Harappan Civilization

(2600-1900 BCE) and is

located in the Ghaggar-

Hakra river plains./jk•hx<+h]
gfj;k.kk ds fglkj ftys es a fLFkr
,d xk¡o gS] tks iwoZ&fla/q ?kkVh
lH;rk dk egRoiw.kZ LFky gS] tks
yxHkx 6500 bZlk iwoZ dk gSA ;g
LFky ckn es a ifjiDo fla/q ?kkVh
lH;rk (2600&1900 bZlk iwoZ) dk
fgLlk Hkh cukA jk•hx<+h ?kXxj&gkdjk
unh ds eSnku esa fLFkr gSA

35. (a) Chor Minar - Built during

the 13th century under the

rule of Alauddin Khilji, this

tower has 225 holes.

According to local legends,

it was a ‘Tower of Severed

Heads’ where the heads of

thieves were displayed on

spikes./pksj ehukj] ftls ̂ pksjksa dk
VkWoj* Hkh dgk tkrk gS] 13oha 'krkCnh
esa vykmíhu f•yth ds 'kkludky
esa cuk;k x;k FkkA bl ehukj esa 225
fNæ gksrs gSaA LFkkuh; fdaonafr;ksa ds
vuqlkj] ;g ^flj dye djus dk
VkWoj* Fkk] tgk¡ pksjksa ds dVs gq, flj
Hkkys ij çnf'kZr fd, tkrs FksA

36. (d) Vande Mataram - The

literal meaning of the

phrase is “I salute you,

Mother.” It is a poem from

Bankim Chandra

Chattopadhyay’s 1882

novel Anandamath. It was

first sung at the 1896

session of the Indian

National Congress and

became a popular song

during the Bengali

Swadeshi movement./oans
ekrjEk] ftldk 'kkfCnd vFkZ gS ̂ ^ek¡
rq>s lyke**] cafde paæ pVthZ ds
1882 ds miU;kl vkuaneB ls yh
xbZ dfork gSA ;g Hkkjrh; jk"Vªh;
dkaxzsl ds 1896 ds l=k esa igyh
ckj xk;k x;k vkSj caxky ds Lons'kh
vkanksyu ds nkSjku ;g yksxksa dk
yksdfç; xhr cu x;kA

37. (a) Devgiri (Daulatabad) -

Established as the

temporary capital of the

Delhi Sultanate in 1327 by

Muhammad bin Tughlaq, it

was renamed Daulatabad.

This decision was made to

establish control over the

fertile land of the Deccan

Plateau, raise resources,

and avoid the Mongol

threat./orZeku egkjk"Vª esa fLFkr
nsofxfj dks 1327 bZLoh esa eqgEen
fcu rqxyd us fnYyh lYrur dh
vLFkk;h jkt/kuh ds :i esa LFkkfir
fd;kA mUgksaus bls nkSyrkckn uke fn;kA
;g fu.kZ; nDdu iBkj dh mitkÅ
Hkwfe ij fu;a=k.k LFkkfir djus] iwath
tqVkus vkSj eaxksy •rjs dks nwj djus
ds mís'; ls fy;k x;k FkkA

38. (c) Adhai Din Ka Jhonpra -

Located in Ajmer,

Rajasthan, this mosque

was constructed in 1192

CE by Qutb-ud-Din Aibak.

It was built on the

remnants of a Sanskrit

college using materials

from broken Hindu and

Jain temples./v<+kbZ fnu dk
>ksaiM+k jktLFkku ds vtesj esa fLFkr
,d efLtn gS] ftldk fuekZ.k 1192
bZLoh esa eqgEen xksjh ds vkns'k ij
dqrqcíhu ,scd us fd;k FkkA ;g
efLtn laLÑr egkfo|ky; ds vo'ks"kksa
ij cuh gS] ftlesa rksM+s x,] fgUnw
vkSj tSu eafnjksa dh lkexzh dk mi;ksx
fd;k x;k FkkA

39. (a) Yaoshang Festival - It is the

major festival of Manipur,

celebrated for five days

during the spring season.

It starts on the full moon

day of the Lamda month

(February-March) and

coincides with Holi. The

festival connects Hindu

and Meitei communities to

indigenous traditions and

is considered the most

important festival in

Manipur./;ks'kax mRlo ef.kiqj dk
çeq• R;ksgkj gS] tks olar esa ik¡p
fnu rd euk;k tkrk gSA ;g ykenk
(iQjojh&ekpZ) eghus ds iwf.kZek fnol
ls 'kq: gksrk gS vkSj gksyh ds lkFk
esy •krk gSA ;ks'kax mRlo fganw vkSj
ehrkbZ leqnk;ksa dks Lons'kh ijaijkvksa
ls tksM+rk gS vkSj ef.kiqj esa bls lcls
egÙoiw.kZ R;ksgkj ekuk tkrk gSA

40. (d) Jammu and Kashmir - The

state is divided into three

regions: Jammu, Kashmir,

and Ladakh. Ladakh,

which forms the

easternmost border of the

country, shares a border

with Tibet. It is located in

the eastern part of the

Kashmir mountain range,

extending from the Kun

Lun mountains to the

Great Himalayas./tEew vkSj
d'ehj jkT; rhu çHkkxksa esa foHkkftr
gS% tEew] d'ehj vkSj yík•A yík•]
tks ns'k dh lcls iwohZ lhek cukrk
gS] frCcr ds lkFk lhek lk>k djrk
gSA ;g d'ehj dh iwohZ J̀a•yk esa
fLFkr gS] tks dqu yqu ioZr ls ysdj
egku fgeky; rd foLr̀r gSA

41. (c) Jalpaiguri - It is located in

West Bengal on the banks

of the Teesta River, the

second largest river in the

state after the Ganga.

Besides Teesta, the Karala

River also flows through

the city and divides it into

two parts, often referred to

as “Jalpaiguri’s Thames.”/
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tyikbZxqMh if'pe caxky esa rhLrk
unh ds fdukjs fLFkr gS] tks xaxk ds
ckn jkT; dh nwljh lcls cM+h unh
gSA rhLrk ds vykok] djkyk unh Hkh
'kgj ds eè; ls cgrh gS vkSj bls
^^tyikbZxqMh ds FksEl** dk uke fn;k
x;k gSA ;g unh 'kgj dks nks fgLlksa
esa foHkDr djrh gSA

42.(a) Delhi Ridge - It is the

northern extension of the

ancient Aravalli Range,

serving as a watershed

between the Indus and

Ganga river basins. This

mountain range is located

in the western part of India

and historically provides an

important water divide./

çkphu vjkoyh jsat dk mÙkjh foLrkj
fnYyh fjt ds :i esa tkuk tkrk gS]
tks fla/q unh csflu vkSj xaxk unh
csflu ds chp ty foHkktd ds :i
esa dk;Z djrk gSA ;g ioZr J̀a•yk
Hkkjr ds if'peh fgLls esa fLFkr gS
vkSj ,sfrgkfld :i ls egRoiw.kZ ty
foHkktu çnku djrh gSA

43.(a) Barren Island- It is an

active volcano located in

the Andaman Sea and is

the only active volcano in

South Asia. Its f irst

recorded eruption occurred

in 1787, followed by

eruptions in 1789, 1795,

1803-04, and 1852./cSjsu
vkbZySaM vaMeku lkxj esa fLFkr ,d
lfØ; Tokykeq•h gS vkSj nf{k.k ,f'k;k
esa bldk ,dek=k mnkgj.k gSA 1787
esa bldk igyk fjdkWMZ foLiQksV gqvk
Fkk] ftlds ckn 1789] 1795]
1803&04 vkSj 1852 esa Hkh foLiQksV
gq, FksA ;g vaMeku vkSj fudksckj
}hi lewg dk ,d fgLlk gSA

44.(b) Cotton Production in India

- According to the ICAC

report released in March

2017, India is the second-

largest cotton producer and

exporter in the world after

China. Major export

markets for Indian cotton

include Bangladesh,

Pakistan, Vietnam,

Indonesia, Turkey, and

Thailand./ekpZ 2017 esa tkjh
vkbZlh,lh dh fjiksVZ ds vuqlkj] Hkkjr
phu ds ckn lcls cM+k dikl mRiknd
ns'k gS vkSj nwljk lcls cM+k lwrh
fu;kZrd ns'k Hkh gSA Hkkjrh; dikl
ds çeq• fu;kZr cktkjksa esa ckaXykns'k]
ikfdLrku] fo;ruke] baMksusf'k;k] rqdhZ]
vkSj FkkbySaM 'kkfey gSaA

45.(d) Northeast Monsoon - It

brings more rainfall to the

Coromandel coast of Tamil

Nadu and the Rayalaseema

region of Andhra Pradesh

during October-December.

This is opposite to the

southwest monsoon, which

brings rains from July-

September to northern

plains and eastern India./

rfeyukMq ds rV (dksjkseaMy rV)
vkSj vka/z çns'k ds jk;ylhek {ks=k esa
vDVwcj&fnlEcj ds nkSjku ykSVrs ekWulwu
ls vf/d ckfj'k gksrh gSA vke rkSj ij
ihNs gVus okys ekWulwu ds bl cjlkr
ds foLrkj dks mÙkj&iwoZ ;k lfnZ;ksa
dk] ekWulwu dgk tkrk gSA ;g
nf{k.k&if'pe ekWulwu ds foijhr gS
tks tqykbZ&flrEcj ds nkSjku mÙkjh eSnkuksa
vkSj iwohZ Hkkjr esa ckfj'k djokrk gSA

46. (d) Asia’s biggest air show

happened in Bengaluru

from February 10-14,

2025, in which stealth

fighters from Russia (

SU57) & USA (F-35)

participated which only can

happen in India./,f'k;k dk
lcls cM+k ,;j 'kks 10&14 iQjojh]
2025 dks csaxyq# esa gqvk] ftlesa :l
( SU57) vkSj ;w,l, (F-35) ds
LVhYFk iQkbVlZ us Hkkx fy;k] tks dsoy
Hkkjr esa gh gks ldrk gSA

47. (a) The engine to be used in

tejas fighter jets are GE-F

404 manufactured by

General Electric, USA

whose delay is a cause of

uttermost frustration and

controversy among defense

experts./rstl iQkbVj tsV esa
bLrseky gksus okyk batu GE-F 404
gS] ftldk fuekZ.k tujy bysfDVªd]
USA }kjk fd;k x;k gS] ftldh nsjh
j{kk fo'ks"kKksa ds chp vR;f/d fujk'kk
vkSj fookn dk dkj.k gSA

48. (b) Sanjeev khanna became

chief justice of India after

the retirement of fromer

CJI DY Chandrachud. B R

Gavai is next in line after

Sanjeev khanna./ iwoZ CJI

MhokbZ paæpwM+ dh lsokfuòfÙk ds ckn
latho •Uuk Hkkjr ds eq[; U;k;k/h'k
cusA latho •Uuk ds ckn ch vkj xobZ
nwljs LFkku ij gSaA

49. (c) Tabla maestro late Zakhir

Hussain belonged to

Punjab  gharana./rcyk oknd
LoxhZ; tkf•j gqlSu iatkc ?kjkus ls FksA

50. (d) China recently has

developed a generative AI

model named DeepSeek at

a fractions of cost of that of

their western counterpart

models causing a huge

turmoil in this field./phu us
gky gh esa vius if'peh led{k ekWMyksa
dh rqyuk esa cgqr de ykxr ij
Mhilhd uked ,d tujsfVo AI ekWMy
fodflr fd;k gS] ftlls bl {ks=k esa
Hkkjh mFky&iqFky ep xbZ gSA

gSAgS C - QUANTITATIVE APTITUDE

51.(b)
1 2

18 5
9 3

1

6

  
       


9 2

18 5
1 3

1

6

  
       


2

18 5
3

3

2

  
      

 [1 × 18 + 5] = 23
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52. (a) The number of gold coins = x

The number of non-gold coins = 4x

ATQ,


x + 20 2

=
4x 3

 3x + 60 = 8x

 5x = 60

 x = 12

Total number of gold coins =
12 + 20 = 32

Total number of Non-gold
coins = 4x = 4 × 12 = 48

Total number of coins = 32
+ 48 = 80

53. (b)A number is divisible by 6 if
and only if it is divisible by
both 2 and 3

Sum of the digits

2 + 4 + 9 + k + 8 + 7 + 6 = 36 + k

'36' is already divisible by 3,
so , k must also be divisible
by 3.

The possible values of 'k' are
0, 3, 6 and 9

Least value of K = 0

54. (a)ATQ,

S.I
1
 = S.I

2


 1 1 1P  ×R × T

1 00
 = 

 2 2 2P  ×R × T

100


7200 16 3

10 0

 
 = 

9 600  × x × 4

100

 x =
345600

38400
 = 9

55. (a) The system has no solution

2b
1 1 1

2 2

a b c
=

a c


kx – 15y + 7 = 0

 a
1
 = k, b

1
 = –15, c

1
 = 7

7x – 21y – 19 = 0

 a
2
 = 7, b

2
 = –21, c

2
 = –19

For no solution


21

K –15 7
=

7 –1 9



21

K 1 5
=

7

 K = 5

56. (a) Profit on Mobile

= 20,000 × 
10

1 0 0
 = 2000

Profit on Laptop

= 72000 ×
2 0

1 0 0
 = 14,400

Profit on Mobile covers

= 300 × 
36

1 2
 = 36

 Total profits = 2000 + 14,400
+ 36 = 16,436

57. (c) Production of rice

= 8600 × 
100

2 5
 = 2150 tonnes.

58. (c) Total cars manufactured in
2022

 Cars of type X + Cars of
typeY + Cars of type Z

 3551 + 3020 + 2600 = 9171

No of car types = 3

Average = 
3

91 7 1
 = 3057

59. (d)Area of sector = 
360


× r2

ATQ,

16 = 
360


 ×82

16= 
360


 ×64

 = 
16 360

64


 =  = 90o

60. (b)Arc Length of circle

= 
360


×2r

Perimeter of a circle  = 2r

ATQ,

Arc length = × Perimeter


360


 × 2r = 

1

2
 × 2r

  = 180o

61. (c) Number of employess = 20%
(increased)

Wages per head = 18%
(decreased)

ATQ,

5    :   6
50  :  41

246250

–4


4

250
× 100

 1.6
62. (b)ATQ,

M.P

C.P
=

6×10

5×10
=50

M.P

S.P
=

10×6

7×6
=42

8

 Loss percent = 
8

50
 × 100

= 16%

63. (b)
A

CB
45

o

45
o

1

1

ATQ,
= 4 sinA cosA

= 4 × 
1

2
×

1

2

= 2

64. (d)x2 + 
1

2x
 = 83

Subtracting – 2 are both
sides

 x2 + 
1

2x
 –2 = 83 – 2

 x2 + 
1

2x
– 2 = 81


1

x –
x

 = 9

Now cubing both sides

 x3 –
1

3x
 – 3 × x ×   = 9

 x3 – 
1

3x
 – 3 × 9 = 729

 `x3 – 
1

3x
 = 729 + 27

 x3 – 
1

3x
 = 756
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65. (b)

20

29
21



 3 cosec + 3cot

 3 × 
29

2 1
 + 3 × 

20

21


87

21
 + 

60

21


147

21
 = 7

66. (d) .O

P

A40o

Sum of the angle in a
quadrilateral is 360o

 OPA + OQA + PAQ
+POQ = 360o

 90o + 90o + 40o + x = 360o

 x = 360o – 220o

 x = 140o

67. (a)A : B = 6 : 8

B : C = 7 : 10

ATQ,

A : B : C

6 : 8 : 8

7 : 7 : 10

_____________

21 : 28 : 40

68. (d)

24o

66o

n

m

2 2n  m

= cosec  24o – cos66o

= 2 2

n

n  – m
 – 

n

2 2n  – m

= 
 2 2 2

2 2

n – n – m

n n – m

= 

2 2 2

2 2

n –n  + m

n n – m

= 

2

2 2

m

n n  – m

69. (c) Step I,
Circumference = 2r
44 = 2 ×  × r
r = 7
Step II,
Volume = r2h

 = 
22

7
 × 7 × 7 × 25

 = 3850

Volume in liters = 
3850

1000
 =

3.85 liters

70. (b)PQ = QR = RS = 
PS

3
= 

6 2

3


=

4cm

P
R S

U

T

Q

V

Perimeter of PTS = 
22

7
× 6 =

3
1

7
× 6 =

6
18

7
cm

Perimeter of PUQ = 
22

7
 × 2 =

3
1

7
 × 2 = 6

2

7
cm

Perimeter of QVS =
22

7
× 4 =

3
1

7
 × 4 = 12

4

7

 Required perimeter = 
6

18
7

 +

6
2

7
 + 12

4

7

= 18 + 6 + 12 +
12

7
= 37

5

7
cm

71. (d)Let L be the length of train

 Length the of tunnel = 
2

L

Total distance covered = L

+
L

2
=

3L

2

ATQ,

 72×
5

18
m/s  = 

3L

2
60

 L = 75 ×
5

18
×

2

3
×60 = 800m

 Required time

= 
 800 1600

5 3
75

18 5

m

 

=
2400

12

m
=200sec

72.(d) Interest (compounded
annually)

=
10,00,000 ×10

100
= `  100,000

Interest (compounded
semiannully).

=
10,00,000 ×5

100
+

10,00,000 ×5

100
+

10,00,000 ×5 ×5

100

= ` (50,000 + 50,000 + 2500)

 Required difference = ` 2500

73.(b) Borrowed

1st
Installment 

2nd
Installment 

` 17640 ` 17640

R= 5% = 
5

100
=

1

20

 Required borrowed amount

= 17640 × 
20

21
+ 17640

×
20

21
×

20

21

= ` 16800 + ` 16000

= ` 32800
74.(c)ATQ,

2P = 
P × R × 4

100

 R = 40%

 5P = 
P × 40 × T

100

 T= 12.5 years
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75. (c) Let the required amount be
x

ATQ,

5000 : x  = x : 16200


5000

x
= 

16200

x

 x2 = 5000 ×16200

 x = ` 9000

D-ENGLISH COMPREHENSION

76. (d)The correct spelling is

Precede, which means to

come before something in

time, order, or position.

Correctly spelt words are:

Exceed means to go beyond

a limit or standard.

Proceed means to continue

or move forward.

Succeed means to achieve a

desired goal or outcome.

77. (d) Innuendo means an indirect

or subtle reference, often

suggesting something

negative or inappropriate.

Similarly, Insinuation

means an indirect or covert

suggestion or hint, typically

of a derogatory nature.

Prose means written or

spoken language in its

ordinary form, without

metrical structure.

Crude means in a natural or

raw state; not yet processed

or refined.

Ragged means having

rough, irregular, or uneven

edges.

78. (c) The correct order of words

should be “next few days.”

The adjective “next” should

precede the noun “few”.

79. (c) Rift in the lute means a

break or division in

something that was once

harmonious, often referring

to a conflict or disharmony

among people.

A cry in the wilderness means

an effort or protest that is

ignored or unheard

Tenterhooks means being

in a state of nervousness or

anxiety, waiting for

something to happen.

Hair breadth means a very

small or narrow margin

80. (b)Treat with contempt means

to show disdain or

disrespect. The most

appropriate idiom is turned

up their nose at her which

means to show disdain or

scorn.

81. (c) Desecrate (vifo=k djuk)
means to treat something

sacred with disrespect or to

defile it. Its opposite is

sanctify (ifo=k djuk), which

means to make something

holy or treat it with great

respect.

Integrate (feykuk) means to

combine parts into a whole.

Damage ({kfr igq¡pkuk) means

to harm or destroy

something.

Violate (mYya?ku djuk) means

to break a law, rule, or

agreement.

82. (a) The correct order is not

ABDC.

A introduces the topic, “The

world’s biggest radio

telescope is in Puerto Rico.”

B gives the name, “It is called

Arecibo dish.”

D provides details on its size,

“It is also 300 metres

across.”

C gives the time frame, “It

was built 40 years ago.”

83. (c) Passive Voice Structure:

Object + was/were + being +

Past Participle (V3) + by +

Subject

The letter + was being typed

+ by the secretary when the

phone rang.

Active Voice Structure:

Subject + was/were + Verb

(V-ing) + Object

The secretary + was typing

+ the letter when the phone

rang.

84. (b)The past perfect tense, “had

won,” is used to indicate an

action completed before

another action in the past.

Here, the team had already

won the championship

before the injury occurred.

Had + v3 +before + v2

85. (d)Active Voice Structure:

Subject + Verb (V2) + Objec

Who + invited + you + to this

party?

Passive Voice Structure: By

+ Subject + object + auxiliary

verb (was/were) + past

participle (V3)

By whom + were + you

invited + to this party?

86. (c) “Remuneration” refers to the

payment or compensation

given to someone for the

services they have provided.

Recruitment: The process of

hiring people for jobs.

Remembrance: The act of

remembering someone or

something.

Rejuvenation: The process of

making someone or

something look or feel

younger or more energetic.
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87. (d)Overstrung (vR;f/d ?kcjk;k
g qvk)  means extremely

nervous or tense. Similarly,

Nervous (uoZl) means easily

agitated or alarmed; anxious

or apprehensive.

Cheerful (çlUu)  means

noticeably happy and

optimistic.

Calm ('k k a r)  means not

showing or feeling

nervousness, anger, or other

strong emotions.

Placid ('kk ar) means not

easily upset or excited.

88. (c) finished her breakfast

quickly.

The adverb “quickly”

should come after the object

"breakfast"

The correct sentence

structure is: Subject + Verb

+ Object + Adverb

89. (c) Pursuit (ihNk) means the

action of following or

pursuing someone or

something, as it describes

how the fugitives managed to

remain free by avoiding the

attempts of the police to

catch them.

Following (vuqlj.k) means

to go or come after a person

or thing.

Repression (neu) means

the action of subduing

someone or something by

force.

Discovery (•kst) means the

action or process of finding

or uncovering something.

90. (d) The correct order is ROQP.

(R)Knowledge is a powerful

tool (introduces the main

idea).

(O) for personal growth and

development (explains its

purpose).

(Q) Seek it with (suggests

how to approach it).

(P) an open mind (completes

the approach).

91. (c) The correct preposition to

use with “specialises” is “in”

when referring to an area of

expertise.

92. (d)Consort (lafxuh) means a

wife, husband, or

companion, particularly of a

reigning monarch. Similarly,

Partner (lkFkh) means a

person who takes part in an

undertaking with another,

especially in a relationship.

Foe(nq'eu) means an enemy

or opponent.

Alcoholic ('kjkch)means a

person suffering from

alcoholism.

93. (b)Plausible (fo'oluh;) means

seeming reasonable or

probable. Its opposite is

Unlikely (vlaHkkfor), which

means not likely to happen,

be done, or be true.

Trend (ço ` fÙ k)  means a

general direction in which

something is developing or

changing.

Foreseeable (Hkfo";ok.kh;ksX;)
means able to be foreseen or

predicted.

Future (Hkfo";) means the

time yet to come.

94. (a) Kilter means proper or good

condition or working order.

Similarly, Order refers to a

state of proper arrangement

or functioning.

Disrepair refers to poor

condition due to neglect.

Anarchy refers to a state of

disorder or absence of

authority.

Shambles refers to a

complete mess or chaos.

95. (b)Journalism is often the work

of painstaking rigour and

perseverence that detail the

socio-political experiences of

our worlds.

The correct spelling is

perseverance, which means

persistence in doing

something despite difficulty

or delay in achieving

success.

96. (a)

97. (b)

98. (d)

99. (b)

100.(a)

ANSWER KEY

1. (d)

2. (d)

3. (c)

4. (b)

5. (a)

6. (d)

7. (a)

8. (d)

9. (c)

10. (d)

11. (c)

12. (b)

13. (a)

14. (a)

15. (a)

16. (a)

17. (a)

18. (c)

19. (c)

20. (c)

21. (c)

22. (c)

23. (c)

24. (a)

25. (a)

26. (a)

27. (d)

28. (b)

29. (a)

30. (b)

31. (d)

32. (b)

33. (d)

34. (b)

35. (a)

36. (d)

37. (a)

38. (c)

39. (a)

40. (d)

41. (c)

42. (a)

43. (a)

44. (b)

45. (d)

46. (d)

47. (a)

48. (b)

49. (c)

50. (d)

51. (b)

52. (a)

53. (b)

54. (a)

55. (a)

56. (a)

57. (c)

58. (c)

59. (d)

60. (b)

61. (c)

62. (b)

63. (b)

64. (d)

65. (b)

66. (d)

67. (a)

68. (d)

69. (c)

70. (b)

71. (d)

72. (d)

73. (b)

74. (c)

75. (c)

76. (d)

77. (d)

78. (c)

79. (c)

80. (b)

81. (c)

82. (a)

83. (c)

84. (b)

85. (d)

86. (c)

87. (d)

88. (c)

89. (c)

90. (d)

91. (c)

92. (d)

93. (b)

94. (a)

95. (b)

96. (a)

97. (b)

98. (d)

99. (b)

100.(a)


